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Chapter 1, Mathematicd L qic

O} Using tvuthtaple
skat B¢

prove the -following toaicﬂl equivalence .
by PAg) \’('"'"inq_)
PVCIAY) = Cpvg) A Cpy)
P2 Construct he switthing circuit of 4he following statement .
Q) (p g Ax) ¥ [ p A g v-Y)]
b) [ Crav) Vg aw)] A (ap AVY)

02 Give oltey nafive arengement for +he ollowing circudt sothat
New Swiehes circuit has minimum swiithe only,
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'|®Lp Represeot ne following Swilthing circuit i0 s‘rmbaUc—F&rm %
congrruek & Swilthing table  hvite your Condusion fvom switehing
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Using truth ables Examine wherher +he -Fa\'tomhs staternent
afevns ore tawtology tentsadicHon or corfigency '

o) (pAvd) «— (p—>9)
b) (P AZ) vV (PAY)
g6 write duad 1) CPVQ)AT
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C\’)Q_Pkﬂf L) ' Maj‘r?ceg ‘ -
@1 Find +the ynverse CrF A=| 3 2 6| by using elementa®y
ST L N A ¥ow transfornadPs only.
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Ql‘ﬁl)d the invexte of A:[B o 6 ij aoljoio% ‘mei-hoc',

@3 Solve the Hollowing equation ‘D?f ‘ethod ofrtduc:hon
A+34y+ 3z = |0
KALY 4 = 15
X+3 + Loy =13
QL selve 4he following equetions by the method of invession,
A=Y +z =4
29 +yYy-87 =0

AW+ =z = 2.
Q5 State whether tbe Jollowing mateix is investible or nat.

a’] E‘?— ‘\} b cos© s'm@] -] . 3 2
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Chapter 3 "j'nqonnmei"nc ~unchons : |

@1 -Find +he geherqj SoluHons cpequcu—.ons

al cosx= =L b} snwx=<-l_ <] co\:x-—-—\l
= N

"

© 2 Finc) the 3enercd Soluton of
a] se?ant= |- ton2x%
bl Sinx 4 8in3x +8iNSx =0
¢l cos3nK = 0S2R

: o il
d:] Cosrt..-g‘lﬂl._
: = 00
E.] cot {-M"x_...‘lﬁos

.[‘j sS\nt = ton%
—sinNk =
coSH
5] N3



s Prov .
ér ok 5‘15‘(-1-') +(°§'C'JL o) (86
o (5 15) = =7 \es,
b Prove thayt +ai! [Jm:' <
| Cos% -l
@5 P
v
¢ that Cox"( -%) + Cos"(f—'—) =1
< 2
®6 show +hat in A ABC b(o-“?(-%)—FC m&(%—) e

_E_h_ipie" L Pajr of Straight Lyner

@1 ‘Hl’)d the Sepavate E’qua:h‘ons of lines Y@Prei‘eni‘ec'r-bj
a] 3=y 44y = 0
bl g ('x—gl_l_,OCX_,)(\,_B)-q_g(\,pa)l: (o)

@2 find P and 9 i the ~followlng equetion Yepresents aPairo{.%a
perpendiculay Lines 294 hxy = py>+an+92\9 - 1 1EI0

®3 Show that «* 6%y +5\J9-+,OXF|L,H +g=-0 Tf_f)'l’f.fal')kf a padrof

Aines  find the acute angle between them . Also find the
Point of nteysection of Lines.
Ol find Ahe value of Kk 1 the slope of one of +he Lines given by
B2 ARy +y>= 0 is four Hmes the othex
©5 -fod the value of k if 2x+y =0 is one of the Llines given oy
3t kg y2g2 =0 ‘

(,hcqr)‘rer 5.3 \!‘edm’s
thvee vedore @, b, ¢ are coplona¥ 'r\”—“Kbn\j it

“heve exist o non-linear tombinedion xa +uyb42ZE =0

@ 2 show thad the PO\M; AC1|"‘10) g (-3,0,4) c (v - Lq) 32
0C0.,.~5 j 2) are nONn-(op\lanay. . :
f 4pe. Vecdous —3i+43- 2K ‘42K and i-p) @

®@2 hind Ahe value of P
b € are the Pos'\HOﬂS vedore of the points A, B,C respectively

z =0 then find the Todi0in which +he point C divides

@\ Pryove i‘hc'f-'*
e (oP\O\ﬁa‘f “+hen

ou 'f @ -
Ane LNt ceqment AB .



®s S\’)bw'\‘hd—f ‘the thyee POIDh Al 92'3) B C2 3, 44) ac')c,
@6 € Coi"Ty10) are collinear.
¥ ACs, P) BCHEPd% c Cr *2.3) are vepstices O{lvrﬁaqgle_,
el GTCY _ﬂ— 'L) s s Cenﬁotcl +Hhen ~Gnd ~the valuels of P/q 7.

@7 Ysing Vector merhod | find the. incenter of +he Ariangle whose.
‘\IExt\Ces are. . A (0,3 0) B (0,0,4) and c.(0,3,8),

Chﬁ_ph,( G ‘_W"{‘Q@_ (DimlﬁSiOﬂdJ Geom&%

T AF & e, Makes angles go°,135° 4 5° with XY, Z axes |
vespectively then find #s direct msines. |
R2 € a Line Makes anglet X By with (o~ _ordinale axes

_%\"QH”& V) Sicka + sint@ + ¢ifY =2

| ) (02 +toc2p L1052y = =] -. : :
| @3 Find The values of D +or which Hhe points (ﬁ = 1‘)(3 7 )
and (8,2,4) ave collinear.
| @Y Hind the cm\g\g befuoean the Lines whose chrec:hoo ~oH0x aee.
S 12,-13 and 3,-4,s.
© 5™ finel the diredion cocines ofthe Lineg which s peupencilcuﬂcw
to the Lines, with diredion wabios —1,2,2 and 0,2, ;

@6 \f o Line hos direchon Takios 4 2,18 +hen Qind directon
Cosines .

Chq_p*?u 1. Lne .

® ) -Pmd ‘l’h&\fed'or equahon of o Line pqssmg %rouah a tht-
Q, +J -3¢ and Parpmdlctum to the vectors 1+J+,Q and
T2 .
@ 2 ano\zj“"he- vector eqU.C!ShOﬂ 0“:"1"'1@_1!0&. P&SSlng"H')‘O’OLL%h Q Ponﬂ,t_ d
wWith P05|hoﬂ ved—or o) +J ¥ aod pa'rcdld 1o the Line Jjoining

+he points — +) Jrug anel 23 4o Also find the. cartesian

form of Ahis equation .
®3 -find The equakion of the Line Passmg*b‘m‘lh The point (21,20

dnd PerPanchJ&rJrD‘rhe,hneg e SR Rl
i 2 3

r -2 = =z

=y s

dustonce betweon +he Lines

"Hnd e 6h0fm+

R Y—c2\~¢)+>cz;+J ak)qx
2 Ci-—__wzk) + 0 A osR)



Qg _{1‘:: f;?z\‘}ht [thH’) of per endicul oy }
Xk ength of papeod iculay fom (2-3,1) o the ine
e o
7 -Pinc\-ﬁ-\ —\
& Vector & contesian equertion of (ine that passed Hhroug h

‘) 0r'\3iﬁ Q. (8-2,2) ‘L‘,) (3,2,-5) % (=2,2,6)
ChQP'—ar & Plan

—_—

Q|
O-pﬂz "’h‘?._ vVector equa_:h'on of +he PIane_‘ wh,‘(}) i< ot a CQJ:(""O-OCL
s :mﬁ:;?wm meon;gin and which j¢ normal 4o the vecfor
V—y +2K .
Qo ﬁ‘nd the castesian form of 4he_ equation of the plane
Y = (48T 4 Cote) ] +(3s+2b) £ wheve 5' K ‘L) ase Pammeﬁeas §
. ectol
®32 -fod +h§_Aeqqaﬁoﬂ of the plane. passing thsough the points
ACH12) B(6,2:8) €Cy,s, &) Meofind the castesian equation
ot the plone .
ok Find the distance of the point 20454 R A the plane
7 (Fr2faub) =13
— A A A N
Q s find Jrho,a{gh, between the Line ¥ = CJ+24+\<)+>;L1+ 3 -l—k)-
and the Plan& Y C'?—"I\—-:i\+ lg) =5

Chap’rer g . Lineas 'Proqmmmifj_
Minimize Z = 2% + 10y subject4o 24 +Y 7~ 7,243y %) s"

@ |
N Z2, NZo, YZ0. :
02 pMarimize z = 1« +8Y subjedtHo ALhH Y L6, X+Y L 6
K770 ,Y70
subject 1O

3 Maximize ZzZ= Ay +Xo
oy L\S &6 g e PP A
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